SELF-ASSESSMENT - MODULE 3-1: Mechanics of Ventilation

COMPLIANCE AND RESISTANCEPRIVATE 

SOLVE THE FOLLOWING PROBLEMS

1. Vt - 800 ml
Peak Pressure (PIP) - 40 cm H2O
Static Pressure (Plateau Pressure) - 20 cm H2O
PEEP  +5 cm H2O
Flowrate ()  -  60 L/min


A. Dynamic Compliance _____________________________________

B. Static Compliance _______________________________________

C. Airway Resistance _______________________________________

2. Vt = 500 ml
Peak Pressure (PIP) - 32 cm H2O____________________________
Static Pressure (Plateau Pressure) - 25 cm H2O_____________
PEEP +7 cm H2O
Flowrate ()  -  70 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance _______________________________________

C. Airway Resistance _______________________________________

3. Vt  - 650 ml
Peak Pressure (PIP) - 60 cm H2O
Static Pressure (Plateau Pressure)  -  42 cm H2O
Flowrate () - 80 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance _______________________________________

C. Airway Resistance _______________________________________

4. Vt - 700 ml
Peak Pressure (PIP) - 45 cm H2O
Static Pressure (Plateau Pressure) - 32 cm H2O
PEEP  +10 cm H2O
Flowrate () - 45 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance _______________________________________

C. Airway Resistance _______________________________________

5. Vt - 850 ml
Peak Pressure (PIP) - 35 cm H2O
Static Pressure (Plateau Pressure) - 20 cm H2O
Flowrate () - 50 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance _______________________________________

C. Airway Resistance _______________________________________

6. Vt - 675 ml
Peak Pressure 20 cm H2O
Static Pressure 10 cm H2O
Flowrate () - 55 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance _______________________________________

C. Airway Resistance _______________________________________

7. Vt - 900 ml
Peak Pressure (PIP) - 60 cm H2O
Static Pressure - 40 cm H2O
PEEP  +15 cm H2O
Flowrate () - 75 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance _______________________________________

C. Airway Resistance _______________________________________

8. Vt – 1,000 ml
Peak Pressure (PIP) - 65 cm H2O
Static Pressure - 50 cm H2O
PEEP +5 cm H2O
Flowrate () - 60 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance ______________________________________

C. Airway Resistance _______________________________________


9. Vt – 450 ml
Peak Pressure (PIP) - 35 cm H2O
Static Pressure - 20 cm H2O
PEEP +5 cm H2O
Flowrate () - 80 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance ______________________________________

C. Airway Resistance _______________________________________


10. Vt – 900 ml
Peak Pressure (PIP) - 40 cm H2O
Static Pressure - 12 cm H2O
PEEP +7 cm H2O
Flowrate () - 40 L/min

A. Dynamic Compliance _____________________________________

B. Static Compliance ______________________________________

C. Airway Resistance _______________________________________


